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Calculate the mole fraction of methanol, CH30H, in a mixture of equal masses of methanol
and water. The molar mass of methanol is 32.0 g/mol and that of water is 18.0 g/mol.
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Calculate the molality of ethyl alcohol in a bottle of wine that is 19.0% C2H50H by mass.
The molar mass of ethyl alcohol is 46.1 g/mol.

olute
A 0412m 100 ALeqeMice  isoiconeot 5 1l s ol
B 176m solptfion X 100g soluhon w4-lg ~
5.09 m
3.73m 0 4]2rna‘ IDC’@SUIM‘IUH o ﬁﬁ 5olq+. 8la

0%l Kg K50 «.—-S&B_qu s0lve

Concentrated aqueous ammonia is 14.8 M and has a density of 0.900 g-mL-1. Calculate
the molality of NH3(aq) in this solution. The molar mass of ammonia is 17.0 g/mol.
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0.6M NH3 solution?

A 77 ml water and 463 mL of 3.5 M NH3

B 77 miof 0.M NH3 and 463 mL of water
77 mi of 3.5 M NH3 and 463 mL of water

D 77 mlof 0.5M NH3 and 540 mL of water
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Wt 493 ml Hzo
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